B e ETE

RLEEEY (FF) O E

[MEZEHOERDOBEZERIT=EEY]

ZETDERIK

OEE17T1&
MEREEDFE
N | BREMOLH BEMOE BEMO LR BB D F D R RIS ) Lo 275 E 0 - ez
- = ST T RIS 2R EMEDFHOR v
NE e B HA
— BB EE N B RBEF LB RICLHBREHKEHGHIVY R
'J—hiﬁE%%wﬁﬁTEw&ﬁﬂfﬂj()—E&)érgﬁz REBWE | ﬁ*%o?t‘;jg*’f ls/150=0.62 Cry-Sp=0.30 R R '1:F:15F2
(20094 kR =
EI—L/)I//\’(“J _ _ — e
1 R % | B ik BAH—THI1-1 b HEEE
—ﬂ“ﬁilli)kEIZKL%EBH“‘T RIZKAEBESHIV ) —MEBREYOME _ o - - - X591-6
n/&E%_ﬁEJ(:m&béF 2P RE W | (2001 2 BR) = = Is/150=0.33 CryrSp=0.26 RiE RE 6F ~PH2F
OXREHREEFR(FFE14
MEREEDFE
No. | BREMOZH REMOLE BEWO 2R THEDWR D F D R a2 REE D O - ez
- = ST AT RIS 2R EMEDFHOHR "
NE E A
B SH—TH150 i i ERm — BHEEABAREN S BR CSS BRRGI Y~ MEREMOTE | 1055 Co5.030 5% s
- - Ay BUREE |IZE D BT EIRIBURE (2001 1) oY e = =
s - _ — — BB EE AN B RBERKIFRICLATEE#KGFIVI)—MEREYDOTE _ Lo - - - .
2 v iarvERE EZH_-TH161-6 BT HREEE Sppr g | [—5e s B oD o Fst | (20014 1) Is/1s0=0.36 C+y*Sp=0.31 KRTE XRE BB BUEFE A
— R EAN B ARBREHKIFRICESTBREKEHKHIVY 45 B TR AS
3 | ARTANDRFETE THE—TH-4 ft HEMFE '() h;zﬁaﬂ_)%%o)mza’)&ﬁgﬁj(:m&bérﬁaziﬁzé‘z&ﬁiﬁj = ﬁo)i;',—A Is/1s0=0.76 Cy*Sp=0.40 RE RE R RIEFH
19974 bR =
DN _ _ e g — R EE AN B AR EHKIFRICKATBESKFIV ) —MEBREYMDOTE _ Lo - - -
4 T-H-K¥>v3ay I:P*E\*ﬁ TE169 3 1& $%§Fﬁ- #&H{I% %@&;Eﬁj(:m&)ér%zk ﬂbil?.fj (2001¢Hﬁ) IS/ISO 0.52 CTU SD 0.31 *;E *;E
s ki . — —ﬁ“ﬁil,i)kElm_ﬁﬂﬁ‘“’r KICKBBEHFIVI)—MEREYOTE _ o - -
5 FBEEIL FHERBITAT88-2 [ESEfTHREEE n/&?rﬁﬁﬂ L 2l oS %,ﬂ(zomﬁﬂ&) = = Is/1s0=0.75 Cq,*Sp=0.48 RE RE
6 *EJE%\/I“**K%*i ;ﬁ*$t$§§m62_6 ﬁl_j. Eﬁ'{’ﬁ%%'%%ﬁﬁ ag%%;ﬁ)*ﬁxgﬁﬂﬁﬁi JJHK( ckérﬁiﬁﬁi JEL%*%G)NHE &E*Elf'ij 1s=0.01 q:002 *;.-E *I'—E




